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Solve and Graph inequalities
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Solve each inequality and graph its solution. Then write the solution in interval notation.

1)  -4 < -8x + 7x

-3 -2 -1 0 1 2 3 4 5 6 7

2)  5n - 1 + 8n £ -1

-6 -5 -4 -3 -2 -1 0 1 2 3 4

3)  1 - r + 7r < -17

-5 -4 -3 -2 -1 0 1 2 3 4 5

4)  -20 < -8p + 3p

0 1 2 3 4 5 6 7 8 9 10

5)  x + 3 + 4 < 13

0 1 2 3 4 5 6 7 8 9 10

6)  6(1 + 3r) £ -120

-12 -10 -8 -6 -4 -2

7)  -102 < 6(1 + 3m)

-12 -10 -8 -6 -4

8)  268 £ 2v + 8(-1 - 6v)

-14 -12 -10 -8 -6 -4

9)  3(-8 + 6b) - 7 > -85

-10 -8 -6 -4 -2

10)  179 ³ 6(1 - 7a) + 5

-6 -5 -4 -3 -2 -1 0 1 2 3 4



©W L2Y0R1p8D JKiu]tKai ASvoff]tCwWaCr_ez YLwLQCM.^ ` DARlJlQ UrXihgEhdtIsL orIe_sKeQrDvleFdx.a w \Miagdpee lwUictjh^ fIdnXfni\nNiitie] mAslagZedb`rpaY ]1A.

Worksheet by Kuta Software LLC

-2-

11)  -153 > -3 - 6(1 + 3n)

1 2 3 4 5 6 7 8 9 10 11

12)  -123 ³ 3(1 - 6n)

1 2 3 4 5 6 7 8 9 10 11

13)  2p - p < 4 + 3p

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2

14)  2m - 1 > -8 + m

-10 -8 -6 -4 -2

15)  r + 3 > 9 - r

-1 0 1 2 3 4 5 6 7 8 9

16)  -x + 4 < -3x - 2x

-4 -3 -2 -1 0 1 2 3 4 5 6

17)  x - 2 + 3x £ 8 + 6x

-12 -10 -8 -6 -4

18)  -38 - 3b > -7(1 - 4b)

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2

19)  -5n + 22 < 7(1 - 2n) + 4n

-10 -8 -6 -4 -2 0

20)  3(7 - 3v) £ -6v + 24

-4 -3 -2 -1 0 1 2 3 4 5 6
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Solve each inequality and graph its solution. Then write the solution in interval notation.

1)  -4 < -8x + 7x

-3 -2 -1 0 1 2 3 4 5 6 7

x < 4

2)  5n - 1 + 8n £ -1

-6 -5 -4 -3 -2 -1 0 1 2 3 4

n £ 0

3)  1 - r + 7r < -17

-5 -4 -3 -2 -1 0 1 2 3 4 5

r < -3

4)  -20 < -8p + 3p

0 1 2 3 4 5 6 7 8 9 10

p < 4

5)  x + 3 + 4 < 13

0 1 2 3 4 5 6 7 8 9 10

x < 6

6)  6(1 + 3r) £ -120

-12 -10 -8 -6 -4 -2

r £ -7

7)  -102 < 6(1 + 3m)

-12 -10 -8 -6 -4

m > -6

8)  268 £ 2v + 8(-1 - 6v)

-14 -12 -10 -8 -6 -4

v £ -6

9)  3(-8 + 6b) - 7 > -85

-10 -8 -6 -4 -2

b > -3

10)  179 ³ 6(1 - 7a) + 5

-6 -5 -4 -3 -2 -1 0 1 2 3 4

a ³ -4
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11)  -153 > -3 - 6(1 + 3n)

1 2 3 4 5 6 7 8 9 10 11

n > 8

12)  -123 ³ 3(1 - 6n)

1 2 3 4 5 6 7 8 9 10 11

n ³ 7

13)  2p - p < 4 + 3p

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2

p > -2

14)  2m - 1 > -8 + m

-10 -8 -6 -4 -2

m > -7

15)  r + 3 > 9 - r

-1 0 1 2 3 4 5 6 7 8 9

r > 3

16)  -x + 4 < -3x - 2x

-4 -3 -2 -1 0 1 2 3 4 5 6

x < -1

17)  x - 2 + 3x £ 8 + 6x

-12 -10 -8 -6 -4

x ³ -5

18)  -38 - 3b > -7(1 - 4b)

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2

b < -1

19)  -5n + 22 < 7(1 - 2n) + 4n

-10 -8 -6 -4 -2 0

n < -3

20)  3(7 - 3v) £ -6v + 24

-4 -3 -2 -1 0 1 2 3 4 5 6

v ³ -1


